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Create the 3™ order Maclaurin Series for f{x) = arctan(x) by using the
Taylor Polynomial process

Create the Maclaurin Series for f{x) =sinx by using the Taylor
Polynomial process { 5+" order)
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Find each of the following
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¥ ¥(x)= ~tosx £(%

Find the 3rd order Taylor Polynomial centered at x =2
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Sometimes if your center is not at zero, you do not need to build the
polynomial. You can use the MacLaurin series and Substitution.

Construct the polynomial for f{x) = e*' centered at x =1 using
derivatives.

Construct the polynomial for f{x) = e*' centered at x = | using a
MacLaurin series.
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